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1. _ makesawhole. 6. The letters S and T stand for numbers. If S - 100 =
(A) 2 halves T - 100, which expression is true?
(B) 3 fourths (A) S=T
(C) 5 thirds
(D) 2 fourths (B) S>T
(E) None of these (C) S=T+100
(D) S>T+100
2. 5/6 of a sum of money is T 90. How much is the sum (E) None of these
of money?
A %75 7. How many faces does the figure shown have?
(B) <108 (A) 3
(C) %450 (B) 4
(D) %540 € 5
(E) None of these (D) 6

(E) None of these

3.  Which one of the following is wrong?

(A) 1700g=1kg700g 8. Which of the following shows the common factors of
(B) 1070g=1kg7g 12 and 157

(C) 3350g=3kg350g (A) land2 (B) 2and3

(D) 4020g=4kg20g (C) land3 (D) 3and4

(E) None of these (E) None of these

4. A curve which begins and ends at the same pointis | 9. How many minutes are there in one hour?

called a/an . (A) 30
(A) Open curve (B) 45
(B) Normal curve (C) 60

(D) 90

(C) Closed curve
(D) Definite curve
(E) None of these

(E) None of these

10. What time does the clock shows?

5. 'The Roman numeral for 999 is

(A) IXIXIX

(B) CMXCIX

(C)  XCIXIX (A) 11 minutes past 5
(D) All of these (B) 11 minutesto 6
(E) None of these (C) 55 minutes past 5

(D) 5 minutes to 6
(E) None of these




